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Candidates must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2. TemRil JUrYd U el § & SR < |
Candidates are required to give answers in their own words as far

as practicable.
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Figures in the right hand margin indicate full marks.

4. UHl P AFYAD Ygd b fo1g wienfAai w1 15 e &1 SrfaRad |\y
for T g
15 minutes of extra time has been allotted for the candidates to

read the questions carefully.



g Ue YRAHT &l @usi H € — WUs—3 Ud WUs—d |

This question booklet is divided into two sections — Section-A and
Section-B.

Gus—3 H 70 GRS YA ©, O 9§ Bl 35 UeAl & IR oAl
AR 21 35 ULl W IMAd BT SR IF W YU 35 BT T HeAIHA
BN Ud & fog 1 3fd FRiRT 1 S9&1 SR o & oy Sudte
U T OMR STR-93% # fau U 981 fddhed ®I el /BTl dfcd A
A WMe B | &l W1 TR & gReR / R G / s / ARG
e & OMR STR—UFA® H TIRT &RAT A1 7, AT WA gRomd
AT BT |

In Section-A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on OMR Answer Sheet
provided to you. Do not use Whitener / liquid / blade / nail etc. on

OMR Answer sheet, otherwise the result will be treated invalid.

Gus—g ¥ 20 Y NI U © | UAB & oY 2 3fF FeiRa 7, [
A B 10 el & SR o At B g% SifaRad s @Wue H 6
I S v A R e & forg 5 ofe fuiRa g R W
gl 3 geAl BT IR <A1 AfYard 7|

In Section-B, there are 20 short answer type questions each
carrying 2 marks, out of which any 10 questions are to be

answered. Apart from these, there are 6 long answer type



questions, each carrying 5 marks, out of which any 3 questions are

to be answered.

8. fhdl UBR & Solagi-id IUDHRYT HI YART YUIdaT dfoid 3 |

Use of any electronic appliances is strictly prohibited.

¥us — 3 / Section-A
g&gf~ ue / Objective Type Questions

Ue W1 1 W 70 A% @ YD U & AT IR [ddhew Ry v § RH | @
AE T | AU gRT g Y WE! fadwed &1 OMR fic &= fafed o | {6l 35 ue=l
BT IR < | 35x1=35

Question nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option on the OMR sheet. Answer any 35

questions. 35x1=35

1. fa=faRed § o9 aeR SN ISt @1 ISR § P
(A) ¥R (B) &
(C) =i (D) 9%
Which of the following is an example of crystalline solid ?
(A) Rubber (B) Glass

(C) Plastic (D) Ice

2. WAd—diad GATHR SHIs Aol H YAV Bl F&T Bl § —
(A) 1 (B) 2

(C)4 (D) 8



The number of atoms in a Face-centred cubic unit cell is —
(A)1 (B) 2

(C)4 (D) 8

NaCl fheed &1 e 8icl & —

(A) fie—apfad (B) Befp—afad
(C) sr<therd (D) &ffar et

The structure of NaCl crystal is —

(A) Body centred (B) Face- centred

(C) Octahedral (D) Square planar

WS T STAS | Aot e Bl & —
(A) 52% (B) 68%
(C) 72% (D) 74%

The packing fraction in a simple cubic crystal is -

(A) 52% (B) 68%

(C) 72% (D) 74%

fFr=IfeRaa @ 59 UeR @ 9id § WRIERT & fhar =8 gnfy ?
CVNEIESICISCACERE! (B) erguIeIf® e
(C) szwReIfe faeram (D) 3775 & Y

In which of the following type of solutions, the process of Osmosis

would not take place ?



(A) Isotonic solution (B) Hypotonic solution

(C) Hypertonic solution (D) All of these

‘fedl a7 factae & ar—<d BT Sfufere JfaHd fderge § SuRerd
ararsyefiel fael & AIT—U9TSl & SRTeR BIAT &, $9 BT Pl had § —

(A) &1 BT g\ (B) SgefT—ufee &1 a4

(C) vaat &1 oA (D) o eImdfery &1 g

“The relative lowering of vapour pressure of a solution containing a
non-volatile solute is directly proportional to the mole fraction of
solute.” This statement is known as —

(A) Henry’s law (B) Dulong and Patit’s law

(C) Raoult’s law (D) Le Chatelier’s principle
o ey e faes § Fao a1 a8 8T 8, S99 die 3%

T[oTd T AT BT & —
(A) 1.0 (B) 1 & &\

(C) 1 ¥ 31 (D) T@

The Van’t Hoff factor for a solute which does not dissociate or
associate in solution is —
(A) 1.0 (B) Less than 1

(C) more than 1 (D) zero



10.

&faa NaCl @ dgId Jveed | dfis R F=feifRad § & &9 gad 8ar © 2
(A) FARA (B) |ifsaq

(C) WIS 3™ (D) BTSSISH

Which one of the following is deposited at cathode on electrolysis of
molten NaCl ?

(A) Chlorine (B) Sodium

(C) Sodium amalgam (D) Hydrogen

W @ fagld fIeeed & o e &1 frefid & & forg fforRaa
DI FHIGHRT Fal T 7

(A) mz = ct (B) m = czt

(C) mc =zt (D) c = mz.t

Which of the following is the correct equation to represent Faraday’s
1% law of electrolysis ?

(A) mz = ct (B) m = czt

(C)mc =2zt (D) c=mz.t

frferRad # o= A1 sifWfshar vAre W dwa 8l & ?

(A) Cr,0;” + 14H" + e > 2Cr*" + 7H,0

(B) F, +2e > 2F °

(C) 20, + 2H" + 2e = H,0

(D) s ¥ BIg 7T



11.

12.

Which of the following reactions is not possible at anode ?
(A) Cr,0;% + 14H" + 6e > 2Cr** + 7TH,0O

(B) Fy + 2e > 2F °

(C) %0, + 2H" + 2e - H,0

(D) None of these

fFr=feRaa & fw de@a suecy od f[deq & ARNe ardea 9949 &F
27?

(A) 2N (B) 0.002N

(C) 0.02N (D) 0.2N

Which of the following electrolytic solutions has the least specific
conductance ?

(A) 2N (B) 0.002N

(C) 0.02N (D) 0.2N

Jffhar 2A > B @ g a1 &t Feqor fe=aferRad # fdda gRT B8R 2

1 d[A] d[B]
(A3 e (B) -

1 d[4] 1 d[B]
©C)-3 % () e

For reaction, 2A - B, the rate of reaction would be represented by

which of the following ?

(A) (B) -2

2 dt



13, TT srfafoear & o1 Rerie forRad # f| R iR = 8 2
(A) 9 (B) A=
(C) MR (D) |
The rate constant of a reaction depends upon which of the following ?
(A) Temperature (B) Mass
(C) Weight (D) Time
14, FAfaRed § @19 gom $ife @1 siffdpar 781 & ?

(A) CHsCOOCHS + Hy0 "5 CH,COOH + CH,OH

(B) CH;COOC,Hs + NaOH - CH,;COONa + C,HsOH
(C) 2H,0, = 2H,0 + O,

(D) 2N,05 = 4NO, + O,

Which of the following is not a first order reaction ?

(A) CHsCOOCH; + H,0 - CH,COOH + CH5OH
(B) CH3COOC2H5 + NaOH > CH3COONa + CQH5OH
(C) 2H,0, > 2H,0 + O,

(D) 2N,05 > 4NO, + O,

15, ST % Hy(g) + Cla(g) 25 2HCI(g) ST & B & —
(A) 3 (B) 2

(C) 1 (D)0



16.

17.

18.

sunlight

The order of reaction Hy(g) + Cly(g) —— 2HCI(g) in water is —

(A) 3 (B) 2

(C) 1 (D)0

3ffereITyoT S ufshar il § —

(A) SHTRITST (B) g Ere
(C) sifafrexor (D) SrgexuT

The process of adsorption is —

(A) Endothermic (B) Surface phenomenon

(C) Oxidation (D) Reduction

T —

(A) g1 % gRefa a=r (B) g1 # uReiitua <at

(C) St # uRexfud gt DECRESEEIREEER]

Milk is —

(A) fat dispersed in fat (B) Water dispersed in fat

(C) fat dispersed in water (D) Suspension of casein in water

fFr=feRaa & @9 ded—eueacy BRe TEgaass dld & Whad H Add
B g § 7
(A) Ks[Fe(CN)g] (B) KoCrO4

(C) KBr (D) K,SO,



Which of the following electrolytes is least effective in causing
coagulation of ferric hydroxide sol ?
(A) K3[Fe(CN)g] (B) KoCrOy
(C) KBr (D) KoSO,4
19. T AR STfAfhar § SRS —
(A) Ufhet & AIST BT g€ <l ©

(B) afsharor Sif @1 "er <l &

(C) 1fim erfifosar & AH &1 gerdm & |

(D) @1fir rfaferar & AH &1 91T & |

In a chemical reaction, a catalyst —
(A) alters the amount of products

(B) lowers the activation energy

(C) decreases AH of forward reaction

(D) increases AH of forward reaction
20. FAfRed # 6w a1 &1 weTge A gRT ura faan rar § 2

(A) s (B) BT
(C) Rier (D) Ygfafam

Which of the following metals is obtained by cyanide process ?
(A) Chromium (B) Copper

(C) Silver (D) Aluminium

10



21. f=faRed # feas g1 e a—vedl # dig ifass &7 aHIUT BIal
27
(A) TATIRR (B) fafetant

(C) TE- AFIRITSS (D) ®red

By which of the following iron oxide is reduced in blast furnance ?

(A) Limestone (B) Silica
(C) Carbon monoxide (D) Carbon
22, JTA TS R MR fHll g o1g & e &1 Ufeham gl § —
(A) deEeier (B) e oraa@vl
(C) TT—31gdruT (D) ggr

The process of refining of an impure metal based on electrolysis is

called —
(A) Electro refining (B) Electro reduction
(C) Auto-reduction (D) Fussion

23 fr=faRad # fas dfer org &1 fspyor g 2 2
(A) Cu,O (B) Cu,S
(C) CuFeS, (D) CuCO3.Cu(OH),
From which of the following copper metal is extracted ?
(A) Cu,O (B) Cu,S
(C) CuFeS, (D) CuCO3.Cu(OH),

11



24. f=fIRad & &9 gESIo §¢ T8 99T © ?
(A) NH; (B) H.O
(C) HCI (D) HF
Which of the following does not form hydrogen bond ?
(A) NHs (B) H:0
(C) HCI (D) HF
25. @ Ml & IR ¥ BT Seldeieh AR BT § —

(A) ns’np® (B) ns’np°
(C) ns*np* (D) ns*np®
The Outer electronic configuration of noble gases is —
(A) ns®np® (B) ns®np®
(C) ns*np* (D) ns*np®

26. faRad d dF Fa ydd fRITPRS & 2
(A) F2 (B) Cl,
(C) Brz (D) I
Which of the following is the strongest oxidizing agent ?
(A) F2 (B) Cl
(C) Br, (D) I2
27.  SgH IHR Bl IMARRIHRUT F&AT & —
(A) +2 (B)-2
(C) +6 (D)0

12



28.

29.

30.

The oxidation number of sulphur in sg is —

(A) +2 (B) -2

(C) +6 (D)0
fferRad g1 # AeAor 9@ & —

(A) Na 3R Ca (B) Mg &R Al
(C)S &R P (D) Cu 3R Fe

Transition elements in the following couple is —
(A) Na and Ca (B) Mg and Al
(C)Sand P (D) Cu and Fe
fferRad # @9 s uftrgrarg © ?

(A) Cr** (B) V**
(C) Sc* (D) Ti**
Which of the following ions is diamagnetic ?
(A) Cr** (B) V**
(C) Sc** (D) Ti**

TFETH (z=23) BT SeIdei=id oI & —

(A) 1s°2s%2p®3s23p®4s°3d°®  (B) 1s°2s°2p°3s?3p°®4s23d°
(C) 1s%2s?2p°3s?3p°4s'3d* (D) 7% & P &l

The electronic configuration of V(z=23) is —

(A) 1s%2s%2p®3s23p®4s°3d°®  (B) 1s%25%2p°3s?3p°®4s23d°

(C) 1s%2s?2p°3s?3p°4s'3d* (D) None of these

13



31.

32.

33.

34.

f=forRag o g Jf9Fss d © ?

(A) Cd (B) In

(C) Gd (D) 377 & @

Which of the following is a Lanthanide element ?

(A) Cd (B) In

(C) Gd (D) All of these

KMnO4 & Mn @& 3ifaRIIROT 3raverr & —
(A) +2 (B) +4

(C) +7 (D) +6
The oxidation state of Mn in KMnQOy is —
(A) +2 (B) +4

(C) +7 (D) +6

Ni(CO), H URIdRoT BT & —

(A) sp (B) sp?
(C) sp’ (D) dsp?
The hybridization in Ni(CO), is —

(A) sp (B) sp?
(C) sp® (D) dsp”

K3[Cr(C,04)s] § Cr & IH=d- He&aT & —
(A)3 (B) 4

(C)8 (D)6

14



35.

36.

37.

The Coordination number of Cr in K;[Cr(C,0,)3] is
(A)3 (B)4
(C)8 (D)6

[Co(NH3)sBr]SO, 3iR [Co(NH3)sSO4]Br 3u< # fhd YR Heferd g ?

(A) M FHGIT (B) BIgRC WHIGUT

(C) FHIT FHIIGIT (D) foist HATII

[Co(NH3)sBr]SO4 and [Co(NH3)sSO,4]Br are related to each other as —

(A) lonisation isomers (B) Hydrate isomers
(C) Coordination isomers (D) Linkage isomers
FARIBTH & U —

(A) T BlTgS (B) R taTgs
(C) TSl e (D) SIS g

Chloroform is a —

(A) Primary halide (B) Tertiary halide

(C) Tri halogen derivative (D) Tetra halogen derivative
Tforet SIS 1 AMAThaT AIfea™ o1g ¥ b $2R H - R 9aT © —
(A) v (B) &+

(C) Uy (D) ufref=

15



38.

39.

Ethyl bromide on reaction with sodium metal in dry ether gives —
(A) Ethane (B) Butane

(C) Propane (D) Ethylene

fFreforiaa 5 @9 Uferel 2aTgs & ?

(A) CH,=CH-CI (B)HC =C-CH, ClI

(C) CH, = CH - CHCI CH3 (D) CH, = CH, — CH,CH.CI

Which of the following is Allyl halide ?

(A) CH, = CH - Cl (B)HC = C — CH, Cl
(C) CH, = CH — CHCI CHj; (D) CH, = CH, — CH,CH,CI
Irfafehar —

C,HsOH + HX e CoHsX + H,O & foTu 8o vt &1 Srfirfshareiierdr

&1 Teal gl HH & —
(A) HI>HCI>HBr>HI (B) HI>HBr>HCI
(C) HCI>HBr>HI (D) HBr>HI>HCI

For the reaction —

C,HsOH + HX 22 C,HeX + H,O the decreasing order of

reactivity of halogen acid is —
(A) HI>HCI>HBr>HI (B) HI>HBr>HCI

(C) HCI>HBr>HI (D) HBr>HI>HCI

16



40.

41.

42.

9 el FRgS BT AGCN & A1 T &xd g, d 957 ufawd 8 —

INNRERSIBEIES G NRERSIESISIEEIES

(C) Tforer v (D) Tforer g8

When ethyl chloride is heated with AgCN, the main product is —
(A) Ethyl cyanide (B) Ethyl isocyanide

(C) Ethyl amine (D) Ethyl nitrate

fFreafeRad # fweT fega smeel aad sffde € 2
(A) CH;CI (B) CH.Cl,
(C) CHCl, (D) CCl,4
Which of the following has highest dipole moment ?
(A) CH5CI (B) CH,Cl,
(C) CHCI, (D) CCly

SR H B A URHATY BT YHBIUT BT & —
(A) sp (B) sp”

(C) sp® (D) sp°d®
The hybridization of central oxygen in ether is —
(A) sp (B) sp”

(C) sp° (D) sp°d?

17



43.

44,

45.

hiHfesergs CH3;MgBr & et sifafehar oxa arar & —
(A) CoHsOH (B) CH;COOH
(C) CHsCHO (D) HCHO

Formaldehyde reacts with CH;MgBr to form —

(A) C,HsOH (B) CH;COOH
(C) CHsCHO (D) HCHO
CH;

|
CH; - CH - OH &1 IUPAC 79 & —

(A) TSAYUAT (B) 2—Hmu=itd
(C) 1—anTe o, (D) & B
3

|
The IUPAC name of CH; - CH - OH is —

(A) Isopropanol (B) 2-Propanol

(C) 1-Propanol (D) None of these

ST Vobleled & SiTRAIARYT & Uvar Ugan AMfie Ui gidr 8 —
(A) BT (B) $%X

(C) Praifaferar a1t (R)NESHES

The first compound obtained on oxidation of primary alcohol is —
(A) Ketone (B) Ester

(C) Caboxylic acid (D) Aldehyde

18



46. frfaRad # f5a sga™ sfieds wed € ?
(A) 31 ZnCl, vd dr=s HCI (B) 3MT& ZnCl, g A% HNO;
(C) atré ZnCl, wd | HNO; (D) 3% ZnCl, W& | HCI
Which of the following is Lucas reagent ?
(A) Anhydrous ZnCl, and conc. HCI
(B) Anhydrous ZnCl, and conc. HNO3
(C) Hydrated ZnCl, and conc. HNO;
(D) Hydrated ZnCl, and conc. HCI

47.  uReNfad RaRe & wgar @ —
(A) 75% T fehigel (B) 95.5% Tire 3feehlgel
(C) 56% TfreT 3reehisct (D) 100% Tfret 3feehprsdt
Rectified spirit contains —
(A) 75% Ethyl alcohol (B) 95.5% Ethyl alcohol

(C) 56% Ethyl alcohol (D) 100% Ethyl alcohol

48. Ufcegss Td I & 9MHI 3 © —
(A) CrH2q420 (B) CoH2,0O
(C) CnH2,20 (D) CnH2n:40
The general formula of aldehyde and ketone is —
(A) CaHzn+20 (B) CoH2:0
(C) CaH2n 20 (D) CaH20+40

19



49.

50.

51.

fr=ferRad & frae ey HASIRT rfAfsear i © 2

(A) CH3;CHO (B) HCHO

(C) HCOOH (D) CH3COCHj,
Which of the following gives Cannizzaro’s reaction ?
(A) CH;CHO (B) HCHO

(C) HCOOH (D) CH3COCHj;

CH;CHO &1 IUPAC 719 & —

(A) WRicfesess (B) VITel

(C) vfeserss (D) vfceerss
The IUPAC name of CH3;CHO is —

(A) Acetaldehyde (B) Ethanal
(C) Ethanaldehyde (D) Aldehyde

meﬁmwm%

(A)-C - (B)-C —H

(C)-0 - (D) — COOH
The functional group of carboxylic acids is —

1 ]

Il
(A)—C - (B)—-C-H

(C)-=0 - (D) — COOH

20



52.

53.

f=foRag & foas a1 AFeEifadferd 3Fa fharelia gaTeuaar uefia

FRAT T ?

(A) SR (B) Vepreiel

(GINISHES (D) g¥<R

With which of the following, carboxylic acids exhibit functional
isomerism ?

(A) Ether (B) Alcohol

(C) Aldehyde (D) Ester

ﬁw%@aﬁﬁﬂmwﬁﬁﬁwﬁﬂaﬂﬂ&%?

(A) R — NH, (B)R—ll\lH

)
(C)R=N-R (D) RyN*X
Which of the following represents a primary amine ?
R
|
(A) R — NH, (B) R—NH

R
(C)R - N-R (D) RN X

21



54.

55.

56.

AT T BT FARIBH AR Veblgleld KOH & @11 TH &R+ TR g1 28—
(A) CH5NC (B) CH4CN
(C) CHsCHO (D) CH3OH

Methylamine on heating with chloroform and alcoholic KOH forms —

(A) CH3NC (B) CHsCN
(C) CHsCHO (D) CH;OH
STSAfS YA & T —

(A) TTEAT THA (B) aved WA
(C) <RI vHI= (D) g% =1 wefl

Trimethylamine is a —

(A) Primary amine (B) Secondary amine
(C) Tertiary amine (D) Al of these
fFreforiaa & fhet Ufcdeliaror ¥9a & —

(A) ITETY THIT @1 (B) TS THIT B
(C) R vH= &t (D) 379 I T B

Alkylation is possible for which of the following ?
(A) Primary amine (B) Secondary amine

(C) Tertiary amine (D) All of these

22



57.  3Mvad T C4H(N & gRT fovd Uige) UHIF 9a © 7
(A) 1 (B) 2

(C)3 (D) 4

How many primary amines are possible by molecular formula

C4H11N?
(A) 1 (B) 2
(C)3 (D)4

58. UdlCHTSSISd & —

(A) FITESTE (B) ST SIS

(C) smITETE e (D) FRTTELTEa

Acetonitrile is —

(A) Methanenitrile (B) Ethanenitrile

(C) Propanenitrile (D) Butanenitrile
59. T=fRad # dI9 AARBRISS B ?

(A) wgeprt (B) Tetacs

(C) wreeTs (D) dac

Which of the following is a monosaccharide ?
(A) Sucrose (B) Glactose

(C) Maltose (D) Lactose

23



Rl Fal # fforRad § d9— %9 g § ?
(A) TH—HIFHC—ITHRT (B) BIhe—TH—3THT
(C) ITHT—TH—HIhe (D) TH—IT@RT—HIhe

Which of the following is the sequence in nucleic acid ?

(A) Base-phoshate-sugar (B) Phosphate-base-sugar
(C) Sugar-base-phosphate (D) Base-sugar-phosphate
faerm=—i1 & & | grar g ?

(A) R—a (B) il

(C) Reabew (D) ¥epdfi

The deficiency of Vitamin C causes —

(A) Beri-beri (B) Nightblindness

(C) Rickets (D) Scurvy

fferRad # @19 smavad VT oF e © °?

(A) e (B) TeRA

(C) w4 (D) wrefT

Which of the following is an essential a—amino acid ?

(A) Lysine (B) Glycine

(C) Serine (D) Proline

24



63.

64.

65.

MY e ¥ f=foRad & fhas gRT W &l Alceio § 9ol SIdT & 2

(A) STTEH (B) g
(C) Arecd (D) SIE=A

Starch is converted into maltose in about half an hour’s time by which

of the following ?

(A) Zymase (B) Invertase

(C) Maltase (D) Diastase
frferRad # &9 wRfas R 7§ ?

(A) ST (B) TTgE Rt
(C) dreigfrel (D) dbcrrse
Which of the following is a natural rubber ?

(A) Isoprene (B) Nitrocellulose
(C) Polyethylene (D) Bakelite

PRIctded f=fIlRad & fhdedr AAmR 8 7

(A) T —6 (B) wIe—6, 6

(C) T —2 Il —6 (D) <Re=
Caprolactum is a monomer of which of the following ?
(A) Nylon-6 (B) Nylon-6, 6

(C) Nylon-2 Nylon-6 (D) Terylene

25



66.

67.

68.

f=forRad & S foaaT SR g ?
(VNEISIIES (B) UreiuTdiel =
(C) drefigRe (D) dfefivex

Docron is an example of which of the following ?

(A) Polyamide (B) Polypropylene
(C) Polyurathane (D) Polyster
FARTAT — & & —

(A) UfeHeRaa (B) VAT

(C) SIS (D) dfeafies
Chloromin-T is —

(A) Antimalerial (B) Analgesic

(C) Tranquilizers (D) Antiseptic

GRS T e Ugel AMfdwprR fbas fbar ?

(A) To weifHT (B) Telo URER
(C) Sfto e (D) Qo et
By whom Pencillin was first discovered ?

(A) A. Fleming (B) L. Pasteur

(C) G. Thomson (D) A. Noble
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69.

70.

fhetel &1 Sy fR=forRaa & fhde wu & grar g ?

(A) BICTIATRISD (B) tfewfes
(C) feagThace (D) Verf¥re
Phenol is used as which of the following ?

(A) An insecticide (B) An antiseptic
(C) As disinfectant (D) An antacid
HfthT & Teb —

(A) Ufefes (B) VATeToIRT®
(C) ¥feamifes (D) TReIfe®
Morphine is an —

(A) Antiseptic (B) Analgesic
(C) Antibiotic (D) Anaesthetic

wueg—9 / Section-B

g SR ue / Short Answer Type Questions.

U &A1 1 W 20 Y IR © | [l 10 Ul B IR | IS D oY 2 3B

fafRa 2| 10x2=20

Question Nos 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. 10x2=20

SPhTS Aol T 8 7 2

What is unit cell ?
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10.

11.

ZnO TET 4 JHolell B1AT © TG T4 H Ulell 8lal 2 | IR | 2
Explain Zinc oxide is white when cold but yellow when hot.
qrST G19 @ JATUMED T A FIT FAS & 7 2
What do you understand by relative lowering of vapour pressure ?
Il RIRYT T 8 2 2
What is reverse osmosis ?

TRaIgs fsor 6 wed © ? 2
What is Azeotropic mixture ?

IR FHIBROT T § 2 2
What is Arrhenius equation ?

STTERITYOT Td SERIYOT H IR I | 2
Differentiate between adsorption and absorption.

HART ISRE T & ? IAER S | 2
What is homogeneous catalysis ? Give examples.

3rared fed @gd © °? 2
What is dialysis ?

UGATIH & QT 31IEhl &l M U 1A g3 ford | 2
Write names and chemical formulae of two ores of Aluminium.
SO, " &I AT BT B ® ? 2

What is the structure of SO, " ?
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12.

13.

14.

15.

16.

17.

18.

19.

frferRad &1 Selagie fa=ma ford |

(i) Cr** (z=24) (i) Zn**(z=30)

Write down electronic configuration of the following .
(i) Cr* (z=24) (i) Zn**(z=30)
EDTA &7 e g3 ford |

Write structural formula of EDTA.

et ST @m 8 ?

What is elimination reaction ?

T BT ST UTSSY & AT TH HY- IR T 8l © 2

What happens when phenol is heated with zinc powder ?

RISHTS AfAfehar &= & ?

What is Resenmund’s reaction ?

St @ e o P

(i) eER® 3ret (il) STEARERE et

Write structural formula of the following :
(i) Tartaric acid (i) Isobutyric acid

U UHIF &l Ufdred Uchlalal § & URord il ?

How would you convert ethylamine to ethylalcohol ?

FelId I T § ?
What are Nucleic Acids ?
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20.

qEa3Y] T B © ? 2
What are macromolecules ?

<" IR U/ Long Answer Type Questions.

oq T 21 9 26 oY ST 2 | fhsl 3 U & SR < | YA & folU 5 3fdh
fAeiRa 21 3x5=15

Question Nos 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15

21.

22.

23.

e R fGdae Ja 9 oY o1 |93 & ° Ud &l Uh—Ud
SGTEXU B Ui BN | 5

What do you understand by Primary and Secondary cells ?
Explain by giving one examples of each.

TR BIfc B AWHAT T & 2 UIH DIC DI AWAHAT & 7 ReRid &I
DB YT N | 2+3=5
What are first order reactions ? Obtain an expression for the rate
constant of a first order reaction.

fr=faRaa &1 AT g3 ford ud gaar MiRe®dr 9ard | 24+2+1=5

(i) H3PO; (i) H3PO4 (iii) H3PO;

Write structural formulae of the following and give idea of their
basicity.

(i) H3PO; (i) H3POy4 (i) H3PO,
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24.

25.

26.

CIISS HHad T © ? 3HD T UG § 7 2+3=5

What is Lanthanide contraction ? What are its consequences ?

VIAISH 3T W URY N 39 fA=forRad Aifires o ured et ?

2o +2Y4=5
(i) W= (ii) 72
Starting from ethanoic acid how would you obtain the following ?
(i) Acetone (i) Methane
DNA 3R RNA # 3/=R a | 5

Differentiate between DNA and RNA.
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